Z
O
—
O
D
1
—
n
Z
>
—
m
=
LLJ
n
n
<




PARTS Y1 U
i : T Q %
Ij- R ( 5:
: - S D
! U
I Qe I g
! u
f—m—m——————0eee——————————"
| g
Ctemem—/—
s Vi @
) V2 <
] W
— — b |
M8X50
7 (3
e M6X18
@ omo®
L (]
At M6X32
® omm®
— A M8X58
M1 1 ]i . r—
- X6 M6X46
i (]
I [ [ ’ ~ M 20
| z ©
:
y 1
AA —
BB =c




V2

V1










S
Wiz

‘Wz/.....

Y RREERY

RN

W




BOX 1/2:

A | > I 1
B | E T J 1
c || % K 1
D || c N T 1 1
E CcI -
BOX 2/2:
3
U 1
G Sy
H - V1 1
V2 1
L
W 4
] X1 MBX50 6
M " amy
X2 VX 18 12
@ w=p
~ X3 M6X28 4
M1 - i (]
X4 M6X32 8
f cmQ
E - - S X5 M8X58 4
0 | [ i @ ==
=== X6 MEX46 8
p—
P | > X7 M8X 20 4
VI i 7 ip) 22
Q 9 1 = 2
R o Y Q:' i
S D AA — 9
T - BB =0 1




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8



